fmmm AT B S AN EX

EEE&BZ MRARER: WS1, f2&: P002-1 [E:233,5:1602]; R S [#R A #]:578.51 * 578.51 cm ;[BR04§]:623.25 * 623.25
cm; WiRE: 25 cm
Note: AR IR AR tEA:9.46E , L EERFEE BRERSNFES/IEEE
#4 EEHZ RN LB= (K2 (FRO)]+[EE-EM]71*1)*(Round(578.51/12)+1)/100= 340.18 M
#4 EEHSNEDH LBE= (28 (ER0)]+[#E - M]71%1)*(Round(578.51/12)+1)/100= 340.18 M
#4 EEHZRNRNO T B= (K28 (FR0)]+[EZ-EM]71*1)*(Round(578.51/12)+1)/100= 340.18 M
#4 fﬁgﬁﬁé% RNEB T E= (iR (R +[#242-EEH]71*1)*(Round(578.51/12)+1)/100= 340.18 M
T .
3T BEEREXXRE(—MAR): 10*2+(25-6)*2+10 =68.00 cm
FEEMPEE: Int(578.51/100)=5 1T
KEEHEE: Int(578.51/100)= 5 5
T MK 68.005*5/100= 17.00 M
#IRREREIZETEH(FRIRENMEERA):
RE#E: 623.25*ceiling(578.51/200)+1)= 2493.00 cm
BEMER: 623.25%(ceiling(578.51/200)+1)= 2493.00 cm
ﬁjﬁ@m&&&mmx&%:mm&: (2493.00+2493.00)/100= 49.86 M
BWARER: 5 &5 2[R AR E R EES < EE{E]33.47 = 33.47 M2
5 Aqe8 2B B AR E X RAECIRAES BNEA R R CEZERAqesTE K
MR32 A ST &
(A B AR 8 5 £148)=0.00 M2
R JER 8 38 432 45 R 40 Bk
(W15 E&-1]307.00%15+[W 15:1& E%-2]300.09*15)/10000= 0.91 M2
HERR/NET:33.47-[AR BE 0]0.00+[x BE O $£48]0.00-[ iR & 32 $£]0.91=32.56 M2
_?;Ltﬂe%ﬂﬁ,ﬁu#ﬁﬁ%ﬂéiﬁ*ﬁ,ﬁﬁwﬁﬁﬁ%
RCEH&:
[F# Bl AR B E 5T EES 2 H & 1E]33.47*25/100= 8.367 M3
RC/N&t:8.367-[x B ORC]0.000=8.367 M3
oo FTERE RPN
AR AT B AL R (KB O LBl N BR42): (MRBA O Lb451:0.00)
#3=66.86 M*(1-0.0000)=66.86 M (66.86 M*0.560/1000= 0.0374 T)
#4=1,360.73 M*(1-0.0000)=1,360.73 M (1,360.73 M*0.994/1000= 1.3526 T)
A DN EEH+ERE) =1400T
H#ERR/NET = 33.01 M2
Rt NEH =8.482 M3
Note:Z& & MR ERIMR, A £/ N30 B B NEMEAIEIEME: 1.01379
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